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1 (g/m?) 5%
1 (kg/10a)
kg/10a 5/9 5/9 6/21
0 0 0 0 0
0 0 6 6 12
300 12 0 0 12
1.3 400 16 0 0 16
600 24 0 0 24
300 12 6 0 18
2 DM%=
CP Ca Mg K P K/(Ca+Mg)
10.740.45 0.44+0.06 0.17+0.01 1.59+0.07 de 0.24+0.02 0.03=0.03ab 1.14+0.2 bc
12.2+1.00 0.5540.06 0.19+0.01 1.46=+0.13 e 0.244+0.03 0.04=0.03ab 09+01 c
11824072  0.4720.02 0.18=0.02 1.8524-0.06 bc 0.2720.03 0.062-0.03a 1.2%0.1abc
1.3 1154049 044001 0.17=+0.01 1.96+0.04ab  0.27=+0.04 0.00=%000 b  1.4=+00ab
2 11.540.25 0.44=+0.07 0.16x0.02 2.10+0.25a 0.2824+0.03 0.05=+0.02ab 15+02a
+ 12.24+0.88 0.54=+0.05 0.20+0.01 1.76+0.04 cd 0.28240.03 0.06=+0.02a 1.1+0.1 bc
126=+0.19 b 0.58=+0.07 0.26+0.02 1.34=+0.05 0.2540.03 b 0.00=+0.00 0.7%0.0
13.6+0.81ab 0.6540.15 0.28+0.01 1.36=+0.08 0.3240.02ab 0.00=%0.00 0.62%0.1
152+0.99a 0.79=+0.17 0.29+0.02 1.36+0.12 0.33+0.03ab 0.00+0.00 0.6+0.1
1.3 1224112 b 0.50%0.02 0.27=0.05 1.614-0.23 0.38==0.10ab 0.214-0.37 0.9+0.2
2 155#053a 0.71=%0.12 0.30%+0.05 1.45=40.29 0.46=+0.11a 0.08=%0.14 0.6=+0.2
+ 14.1+0.80ab 0.7240.14 0.324+0.01 1.39=+0.21 0.41+40.03ab 0.00=%0.00 0.62%0.1
5%
3 H16 960kg/10a DMY%=
CP Ca Mg K P K/(Ca+Mg)
146117 021=%0.02 0.07=%+001 441=%0.16 0.38=%0.02 0.11=20.00 6.77%0.43
178127 040007 0134001 4244022 0.66=+0.06 0.34=40.05 3.54+0.53
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